1/2” — MFR. LOGO
30" DIA. LETTERS — COUNTRY OF
ORGIN
27 1/2” DIA.
] 1-1/4” — SANITARY
26" DIA. LETTERS — SEWER
25 1/2" DIA. 3/4” ~ LID WEIGHT ©
22" DIA. LETTERS — DATE
18" DIA — TxDOT (REQUIRED
: ONLY FOR COVERS
= IN TxDOT R.O.W.)
16 1/2” DIA. = 2
”» OONT Y| W'C. 1
14” DIA. SO 40 1/2” BORDER (TYP.)
&S T ALK e
12 1/2” DIA. =/ o apl=
/)
10” DIA. &
) 3 EWES 1/2” SQUARE BY 3/4”
8 1/2” DIA. @;fp% DEEP RECESS BELOW TREAD
\ R/ S WITH 13/16” HOLE ON A
7" DA~ S — 29 13/16” DIA. CIRCLE
(TYP.)
30 11/2”
(TYP.) 17 — TRAVIS COUNTY
LETTERS W.C.&.1.D. NO. 17
— TEXAS
LID PLAN VIEW
MACHINED i o
3/4” LETTERS SURFACE .
(2)PICK BAR (TYP) (LID SEAT) 3/4” DIA.
507 BEGIN
et — SPOKE
22” TAPER
9 3/4”

-

3/4"
8”
< ”
29 3/4 ) . (RELIEVE BOLTING PADS
e 30" — 15/8 X 2 1/4 & SPOKE ENDS 1/8”
| . BOLTING PAD BEYOND LID SEAT FOR
31 3/4 (4-TYP.) MACHINING PURPOSES)
LID SECTION VIEW LID BOTTOM VIEW
. TRAVIS COUNTY WATER CONTROL AND WATERTIGHT MANHOLE RING
&*W% IMPROVEMENT DISTRICT No. 17 AND 32" COVER
fr 2 STANDARD DETAILS (1 OF 3)
‘i\&\ - f, ADOPTED: THE ARCHITECT/ENGINEER ASSUMES | DETAIL NO.
== RESPONSIBILITY FOR APPROPRIATE
- 03/01/2016 USE OF THIS STANDARD. WW16




4 — GUSSETS AT 90°
(TYP.)

1 3/8” DIA.
LEFT HOLE

MACHINED
SURFACE

5/8”
MIN. (TYP.)

5/8" THREADED
BOLT HOLES

(4-TYP.)

3/4"
LETTERS
— MFG. LOGO
— DATE
— COUNTRY OF
ORIGIN
MANHOLE RING
5/16” O—RING IN A 1/4” - 32 1/4° -
GROOVE ON A 31 3/8” CIRCLE 0g”
MACHINED SURFACE
W /
.,/,,\
of E—IrS 7)o
_:__"ii “\ i'____.l
17] ~
———— S BOLTING LUG
17/8 (4 TYP)
33 3/4”
31/2" - 40 1/4"
RADIUS Cﬁ%a /
& ’fj RING SECTION
AT o
TYP.
STAR LAYOUT

= g

£
£59 1ot
el |5
iEi 5]
“9 127
° Vi
Y 050 W

\\/"’

TRAVIS COUNTY WATER CONTROL AND
IMPROVEMENT DISTRICT No. 17

WATERTIGHT MANHOLE RING
AND 32" COVER

STANDARD DETAILS (2 OF 3)
ADOPTED: THE ARCHITECT/ENGINEER ASSUMES DETAIL NO.
RESPONSIBILITY FOR APPROPRIATE
03/01/2016 USE OF THIS STANDARD. WW16




1 1/2” SQUARE BOLT RECESS 3/4~
DEEP BELOW TREAD

13/16” BOLT HOLE

5/8” 2

i

1/4”

MANHOLE LID
1/4” CLEAT
15/8" X 2 1/4”
BOLTING PAD

5/16" O—RING IN A 1/4”
GROOVE ON A 31 3/8" CIRCLE

11/2” 1 :
/2" u 2 1/2
| |
w0 Y.
SRR RN =i
N | o | { * MANHOLE
< J' i | X VA * RING
- 740 TN
ﬂ 5/8" 1.5/8"
2 5/8
58" 1 3/8” DIA. LIFT
HOLE IN GUSSET 5/8” THREADED BOLT HOLE

LIFT HOLE DETAIL

THRU BOLTING LUG

NOTES:

1.

ALL CORNERS AND EDGES SHALL HAVE A
1/16" MINIMUM RADIUS.

2. LIDS SHALL BE CAST WITH TWO 1" DIA. 11/47
STEEL PICK BARS. 716" PLATE
3. LID WEIGHTS SHALL BE 210 LBS. FOR / 32
CAST IRON OR 175 LBS. FOR DUCTILE 1/4” CLEAT
IRON. WEIGHT SHALL BE CAST ON BOTH I—
TOP AND BOTTOM OF LID. " _
3 3/4 2 5/16
4. MANUFACTURER SHALL PROVIDE vy 1 =1
INDEPENDENT TESTING LABORATORY = =T
REPORT ON 25,000 POUND PROOF LOAD @/—" \
TEST CONDUCTED ACCORDING TO AASHTO |
M—306. (40,000 POUND FOR TxDOT ‘r
RIGHT—OF —WAY). MSASF:'}%E
5. FILLETS SHALL BE 1/4” RADIUS UNLESS (LD SEAT) 17/8" (48mm)
OTHERWISE SPECIFIED. RADIUS
6. MANUFACTURER SHALL REMOVE EXCESS 1/2” WALL 17 DIA. STEEL BAR
IRON AND MACHINE FINISH SEATING THICKNESS
SURFACES TO NOTED DIMENSIONS.
7. BOLTS SHALL BE 5/8” X 1 3/7" X 11
N.C. STAINLESS STEEL HEX HEAD (TYPE PICK _BAR DETAIL
316).
o TRAVIS COUNTY WATER CONTROL AND WATERTIGHT MANHOLE RING
/:%/v"% IMPROVEMENT DISTRICT No. 17 AND 32" COVER
ﬁ o STANDARD DETAILS (3 OF 3)
"%%1959 f, ADOPTED: THE ARCHITECT/ENGINEER ASSUMES | DETAIL NO.
" RESPONSIBILITY FOR APPROPRIATE
- 03/01/2016 USE OF THIS STANDARD. WW16




